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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2022 

 

Subject Name : Fluid Mechanics 
 

Subject Code : 2TE03FLM1   Branch: Diploma (Civil) 
    

Semester: 3        Date: 21/11/2022   Time: 11:00 To 02:00   Marks: 70 
 

Instructions: 
(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 

(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1) Attempt the following questions           (14) 

a) In Bernoullis equation Z1 = Z2 if 

(a) pipe is inclined (b) pipe is vertical  

(c) pipe is horizontal (d) never 

b) Volume per unit mass is 

(a) mass density (b) specific weight (c) specific volume (d) specific gravity 

c) When fluid is at rest, shear stress is 

(a) One  (b) zero   (c) less then zero   (b) more then zero 

d) In Bernoulli’s equation, kinetic energy is; 

(a) Z       (b) V2/2g     (c) p/w    (d) None of the above 

e) Density of mercury is 

(a) 11.6    (b) 12.6    (c)13.6   (d) None of the above 

f) A large Roynold number is indication of 

(a) smooth and streamline flow (b) laminar flow 

(c) steady flow (d) turbulent flow(e) highly turbulent flow 

g) Pitot tube is used for measurement of 

(a) pressure (b) flow (c) velocity (d) discharge 

h) Pressure at any point in fluid is define as 
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(a)area per unit force (b) force per unit area (c) both (d) none of these 

i) In C.G.S system the unit of viscosity is 

(a) poise (b) joule (c) newton (d) none of the above 

j) The coefficient of discharge Cd, in terms of Cv and Cc is: 

(a) Cd = Cv × Cc (b) Cd = Cv / Cc  

(c) Cd = Cc / Cv (d) Cd = 1 / Cv .Cc 

K) In a venturimeter divergent cone is kept 

(a) shorter than convergent cone (b) equal to convergent cone  

(c) longer than convergent cone (d) none of the above 

l) Density of water is maximum at 

a) 0°C b) 0°K c) 4°C d) 100°C 

m) The stress-strain relation of the Newtonion fluid is 

a) linear b) parabolic c) hyperbolic d) inverse type 

n) The property of a fluid which enables it to resist tensile stress is known as 

(a) compressibility b) surface tension c) cohesion d) adhesion 

 

Attempt any four questions from Q-2 to Q-8 

Q-2 Attempt all questions 

a) Discuss metacenter and metacentric height with diagram    (7) 

b) Explain Pascal’s Law with sketch.       (7) 

Q-3 Attempt all questions  

a) Classify pressure measurement devices and explain any one.   (7) 

b) The right limb of a simple u-tube manometer containing mercury is open to the 

atmosphere while the left limb is connected to a pipe in which a fluid of specific gravity 

0.9 is flowing. The center of a pipe is 12 cm below the level of mercury inthe right limb. 

Find the pressure of fluid in pipe if the difference of mercury level in two limbs is 20 cm. 

           (7) 

 Q-4 Attempt all questions  

a) Enlist and explain deferent types of loss of head in pipe.    (7) 

b) Explain the Reynolds’s experiment with sketch and relate the Reynold’s Number to the 

types of flow.          (7) 
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Q-5 Attempt all questions  

a) State and explain continuity equation.      (7) 

b) Explain venturimeter with diagram.      (7) 

Q-6 Attempt all questions  

a) Explain Hazen-William monograms      (7) 

b) Derive an equation for the force exerted by the jet on a stationary vertical plate.(7) 

Q-7 Attempt all questions  

a) Define: 1. Density 2. Weight density 3. Sp. volume 4. Sp. Gravity  (4) 

b) What are the gauge pressure and absolute pressure at a point 3 m below the free 

surface of a liquid having density of 1530 kg/m3if the atmospheric pressure is 1.013 

N/m2           (3) 

c) Write a short note on fluid simulation software    (7) 

Q-8 Attempt all questions  

a) Discuss Darcy - Weisbach formula and Chezy's formula in detail.      (7) 

b) Compare with diagram solids, liquid, gas, vapour and explain coordinate systems(7) 

 

 

Q-1 Attempt The Following Questions        (14) 

 

a) ફબનોરીન ુંસભીકયણજો Z1 = Z2 હોમ 

a) ઩ાઈ઩ત્ાુંસીછે    b) ઩ાઈ઩ઉબીછેc) ઩ાઈ઩આડીછે.d) એક઩ણનહી 

b) કદપ્રતિએકભદ઱એટરે 

a) દ઱ઘનત્લb) તલતળષ્ટલજન  c) તલતળષ્ટકદ d) તલતળષ્ટગ ર ત્લ 

c) જ્માયેપ્રલાહીળાુંિહોમત્માયે, ળીમયસ્ટ્રેસ 

a) એકહોમ  b)  શ ન્મહોમ c) શ ન્મકયિાઓછુd) શ ન્મકયિાલધ  

d) ફબનોરીનાસભીકયણકાઇનેટટકઊબજાશ ુંરેલાભાુંઆલેછે 

a)Z    b) V2/2g  c)p/w d)none of above 

e)઩ાયાનીઘનિાકેટરીહોમછે. 

a)11.6    (b) 12.6    (c)13.6   (d) None of the above 

f)ભોટોયેનારડનુંફયશ ુંદબળાલેછે 
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(a) smooth and streamline flow (b) laminar flow(c) steady flow (d) turbulent flow (e) highly 

turbulent flow 

g) pitot tube નોઉ઩મોગશ ુંભા઩લાભાટેથામછે 

(a)દફાણ(b) પ્રલાહ (c) લેગ(d) ટડસ્ટ્ચાર્જ 

h) પ્રલાહીનાકોઈ઩ણએકબફિંદ ઩યઉત્઩ન્નથમેરદફાણનીવ્માખ્માશ ુંથળે. 

(a) ક્ષેત્પ઱પ્રતિએકભફ઱ (b) ફ઱પ્રતિએકભકે્ષત્પ઱(c) ફને્ન(d) એક઩ણનહી 

i) C.G.S ઩દ્ધતિભાુંસતનગધિાનોએકભ 

(a) poise (b) joule (c) newton (d) none of the above 

j) ટડસ્ટ્ચાર્જનોગ ણાુંક Cd, Cc િેભજCv નાઉ઩રક્ષભાુંશ ુંથાળે 

(a) Cd = Cv × Cc (b) Cd = Cv / Cc (c) Cd = Cc / Cv (d) Cd = 1 / Cv .Cc 

K) લેનચય યીભીટયભાુંડામલબજનટકોનકેટરોયાખલાભાુંઆલેછે. 

(a) કનલબજનટકોનકયિાનાનો (b) કનલબજનટકોનજેટરો(c) કનલબજનટકોનકયિાભોટો  ( d) 
એક઩ણ઩ણનહી 

l) ઩ાણીન ુંઘનત્લભહત્તભક્યાિા઩ભાન઩યહોમછે. 

a) 0°C b) 0°K c) 4°C d) 100°C 

m) ન્ય ટોનીમનપ્રલાહીનોસ્ટ્રેસ – સરેનસુંફુંધકેલોહોમછે. 

a) linear b) parabolic c) hyperbolic d) inverse type 

n) પ્રલાહીનોક્યોગ ણધબભપ્રલાહીનેટેનસાઇરસ્ટ્રેસસાભેયક્ષણઆ઩ેછે. 

a) compressibility b) surface tension c) cohesion d) adhesion 

Attempt any four questions from Q-2 to Q-8 

Q-2 Attempt all question 

a)મેટાસેનટરઅનેમેટાસેનટ્રીકહાઈટળવણાળોડાયાગ્રામસાથે.      (7) 
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b) Pascal’s law આક્રુતીસાથે          (7) 

Q-3 Attempt all questions 

a) પે્ર઴રમા઩ળાનાસાધનોળવગીક્રુતકરીકોઈએકસમજાળો.      (7) 

b)Simple U-tube manometer નીજમણીફાજુકેજે઩ારોધરાળેછે, તેહળામાાંખલુ્઱ીછે. 
જ્યારેડાફીફાજુએકએળા઩ાઈ઩સાથેજોડાયે઱છે, જેમા 
0.9વળવ઴ષ્ટગરુુત્ળફલળાળુપ્રળાહી઩સારથઈરહ્યછેુ.઩ાઈ઩નુાંકેન્દ્રજમણીફાજુના઩ારાનામા઩કરતા 12 
cm  નીચેછે.઩ાઈ઩નાપ્રળાહીનુાંપે્ર઴ર઴ોધોજો manometer 
નીફને્નફાજુળચ્ચેના઩ારાનામા઩નોતપાળત20cm છે.       (7) 

Q-4 Attempt all questions 

a)઩ાઈ઩ભાુંથિાતલતલધપ્રકાયનાloss of head તલળેસભજાલો.     (7) 

b)Reynold’s experiment આક્રુિીસાથેસભજાલોિેભજ Reynold’s number 
નોપ્રલાહનાપ્રકાયસાથેનોસુંફુંધસ્ટ્઩ષ્ટકયો.       (7) 

Q-5 Attempt all question    

a) Continuity equation ઱ખોઅનેસમજાળો      (7) 
b) Venturimeterઆક્રુવતસાથેસમજાળો.       (7) 

Q-6 Attempt all questions 

a) Hazen-William monogramsસમજાળો     (7) 
b) Stationary vertical plate ઩રજેટદ્વારા઱ાગે઱ાફલનુાંસતુ્રતારળો.  (7) 

Q-7 Attempt all questions 

a) વ્યાખ્યાઆ઩ો- 1) ઘનતા  2) ળેઇટડેનવસટટ3) વળવ઴ષ્ટકદ 4) વળવ઴ષ્ટગરુુત્ળફલ (4) 
b) જો ળાતાળરીયણ દફાણ 1.013 N/m2 હોય તો 1530 kg/m3 ઘનતાધરાળતા એક  

પ્રળાહી માટે મકૂ્ત સ઩ાટીની ૩ મીટર નીચે ગેજદફાણ અને એફસોલ્યટુ 
દફાણશુાં 
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રહ઴ેે?          (3) 
c) Fluid simulation software ઩રટુાંકનોંધ઱ખો.     (7) 

Q-8 Attempt all questions  

a) Darcy’s-Weisbach formula  અને Chezy’s formula  નેવળગતમાાંળવણળો  (7) 
b) આક્રુવતસાથેsolid, liquid, gas,vapour નીસરખામણીકરો. અને  coordinate system 

સમજાળો.          (7) 

 

 


